2rYVOeSrH

MediaPro1100 — mobunbHag ctomnka ans
aucrines 30-60", 60 kr, HaknoH -5°/+15°, VESA
800x400 (makc), Tymba , Bbicota 1800 mm (makc),
YepHbIN

EAL

30-60"
76-152¢cm

G

MNornka

20 Kr

(Makc)

G

[ucnnei
60 Kr

(Makc)

wWOUN,
o 3
<

800x400

(makc)

ANA MOHTAXA
PEKOMEHAYETCA
2 YENOBEKA

MDP-1100-B



HaKIMOH Ha 5 rpagycoB BBEPX

_01_



A C D E
6MM 5MMm 4Mm 3MM
14mm 17MMm M6x10| M8
X 1 X 1 x 1 x 1 X 4 x 1 x 1 x 1 X1
G H |

? ? 1 11 ©e B| T
M8x25 M6x25 M5x15 M4x15] M8 M6 M5 M4 M8x15

x4 x4 x4| x4 x5 x4 x4 x 12 X2

_02_



_03_



_04_



o o o o o o o o o o o 9o

e e o e e e e e e e o o

o o o o o o o o o o o 9o

_05_



_06_



’ LA AN A AN 4 s 0000 200200 2 22020 0
LA A A A 4 e 2800 s 82220 2 020220
LA A Y A 4 a4 2 800 22022 LN AW AN A% AN 4
LA Y A LA A A A LA A A v ] y e 70
28000 a0 202 LA AW A A LN A AN Y Ay J .
IR N NN 70 a0 a4 080 s 080000
/ \ — =P
= @@@ o ®

|! —_—



/[ /

_08_

T L
ettt

AN AN

.. s .

o> P @9 @ @ gT 08 @8 B a @




10

_09_




11

_10_




1

e r
1e0000
e
I N RN N
erorr
IR NN

IR N NN
e
seare
I[N

de0000

I NN}

IR NN
e ea
ss 0
NN

e e

12200
(AN NN
2e000
(AN EN]

LN [ NN N I NN NN
erere 20000 (NN RN (AN NN 2o sav
00000 L NN ss0 0 [N NN N I NN NN}
er0 e e000 LN (AN NN 200000
IR NN [ NN a0 000 [N NN vy

s50 00 o000 LN rrra 000000
I RN NN vrraa a0000 NN N vy

e r

I NN NN
I NN NN
IR NN NN
NN NN

L N

_11_



V=200MMm
VIz200MMm

13

V=200Mm
VIz200Mm

14

_12_



15

V=200MmMm

VI=200Mm

_13_



16A

| V=200mMMm
—-n*3|i/|M VIz200Mm

_14_



V=200mMm
VI=200Mm

16B

_15_



I

1@@@1

p—

|

f y

17

18




19

_17_



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18



